NZ4
7 6 = «5) (’X)
1. If f(z) = e¥V7, then f~'(z) = g = 5 + \ﬂ
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3. Let f(z) = 2* — x. Find the difference quotient *——————= fe+h - 1) +h f{2) =
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4. Find a value for the constant ¢ that makes f(z) continuous for all values of .
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E. No value of ¢ will make the function f continuous everywhere.
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5. Suppose f(z) = - 11 Then ",Fw’i/**-# .{% p( (g\vl 13
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6. The limit .
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represents f’(a), the derivative of some function f at some number a. Find such an f
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7. Solve  In(z+1)—lnz=1 for x. ==
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8. Here is the graph of f:
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Find the graph of f’, its derivative.
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11. The graph of y = 27 is moved horizontally 3 units to the right and then reflected across
the & axis. What function has this as its graph? (9(,3)
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12. If f(x) satisfies the inequality 241 < f(x) < e” for all z;, which of the following statements
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